
Restar de Ceros (B)Halle cada diferencia.
10000 1000 1000 1000- 5953 - 596 - 536 - 843

1000 10000 10000 10000- 73 - 8586 - 9473 - 1441
1000 1000 10000 10000- 463 - 958 - 7524 - 6900

10000 10000 1000 10000- 3649 - 9727 - 75 - 195
10000 10000 10000 1000- 8990 - 507 - 9589 - 530

1000 1000 10000 10000- 426 - 239 - 8788 - 9621
1000 10000 10000 1000- 895 - 4402 - 8619 - 20
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Restar de Ceros (B) RespuestasHalle cada diferencia.
10000 1000 1000 1000- 5953 - 596 - 536 - 8434047 404 464 1571000 10000 10000 10000- 73 - 8586 - 9473 - 1441927 1414 527 85591000 1000 10000 10000- 463 - 958 - 7524 - 6900537 42 2476 310010000 10000 1000 10000- 3649 - 9727 - 75 - 1956351 273 925 980510000 10000 10000 1000- 8990 - 507 - 9589 - 5301010 9493 411 4701000 1000 10000 10000- 426 - 239 - 8788 - 9621574 761 1212 3791000 10000 10000 1000- 895 - 4402 - 8619 - 20105 5598 1381 980
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